Miss Court’s Maths 3.11.2020 – 6.11.2020 

	DATE: 3.11.2020 

	LO: To use a formal method for  addition 
	S

	 

	Star Words
addition   calculation   plus   sum   altogether   regrouping   place value
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Problem solving and reasoning 
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	DATE: 4.11.2020 

	LO: To use a formal method for subtraction  
	S

	 

	Star Words       subtraction   calculation   minus   less   regrouping   place value



[image: ]











Draw bar models to represent these numbers and then use column subtraction to solve them.
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6.
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	DATE: 5.11.2020 

	LO: To solve problems using addition and subtraction formal methods.  

	 

	Star Words       subtraction   calculation   minus   less   regrouping   place value
addition          add               plus       more than            difference 



Use bar models to represent each step in your calculation. Use the column method to calculate. 
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     Home Learning Arithmetic








Arithmetic

      Miss Court’s Maths     Group 
 Y5



        Name:
Date: 6th November 2020 







[image: ]4219 + 1398 =

2438 + 5671 =
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4490 + 10010 =
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[image: ]6455 - 5420 =

4458 + 38658 =
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91493 - 10853 =
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[image: ]19262 - 17543 =


[image: ]34384 - 32795 =



[image: ]380 ÷ 10 =



[image: ]4800 ÷ 100 =


[image: ]864 ÷ 8 =

819 ÷ 9 =
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[image: ]870 x 5 =

432 x 3 =


[image: ]1936 x 4 =
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5870 x 6 =
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[image: ]¼ of 1616 =



¾ of 448 =
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How many times tables can you complete in 5 minutes? 
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Annie,Mo and Alex are working out the
solution to the calculation 6,374 + 2,823

Annie’s Strategy

6,000 + 2,000 = 8000
300 + 800 =110

70+20=190
4+3=7
8000 + 110 + 90 + 7 = 8207
Mo's Strategy Alex’s Strategy
637 4 63|74
+2/82/3 |*2823
=T T-T-1 7
8197
|l I il 90
1100
Who's correct? 0/0j0
197
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total 12435.
What could they be?
Convince me
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5,524
- 1,774

5,031
- 4,549

© 6,027
- 4818
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9,188
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There are 3597 boys and girls in a school.
2,182 are boys. How many are girls?

Car A travels 7653 miles per year.
Car B travels 5612 miles per year.
How much further does Car A travel than Car B per year?
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What number is 5002 less than 70017
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Calculate the difference between 3212 and 2046.
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Correct or Not Correct

Read each calculation and work out whether itis correct or not correct. Explain how you know.

8321
- 764
8443

Is this correct? Explain your reasoning,

20250

3350

050

The difference between A and B s 15,750

A

200
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A stack of 20 identical boxes is 140e tall

140em

HH

‘Stefan takes three boxes off the top.
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Eva makes a 5-digit number.
Mo makes a 4-digit number.

The difference between their numbers is
3465

What could their numbers be?
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A study of 900 people found that 687 were
right handed, 174 were left handed and the
remainder were ambidextrous (could use
either hand). How many were ambidextrous?
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The crisp factory needs to make 875 bags an hour.
1f @ machine breaks down and the factory only
makes 323 bags in one hour, how many does it
need to make in the next hour to catch up?




image22.png




image23.png
Dave earns £1485 a month as a bus driver and his
wife earns £1760 as a teacher. If Dave gets a pay
rise of £217 a month how much less than his wife

does he earn?
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There were 2,114 visitors to the museum
on Saturday.

650 more people visited the museum
on Saturday than on Sunday.

Altogether how many people visited the
museum over the two days?
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A milkman has 250 bottles of milk.

He collects another 160 from the dairy,
and delivers 375 during the day.

How many does he have left?

My method:
375-250=125
=
125 + 160 = 285
Tommy

Do you agree with Tommy?
Explain why.
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On Monday, Whitney was paid £114

On Tuesday, she was paid £27 more than
on Monday.

On Wednesday, she was paid £27 less
than on Monday.

How much was Whitney paid in total?
How many calculations did you do?

Is there a more efficient method?
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I'm thinking of a number.
After | add 5,241 and subtract 352, my number is 9485
What was my original number?
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Adam is twice as old as Barry.
Charlie is 3 years younger than Barry.
The sum of all their ages is 53.

How old is Barry?
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979 + 100 =

1 mark
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Dexter buys a laptop costing £1,265 and a mobile phone costing
£492
How much do the laptop and the mobile phone cost altogether?

Complete the bar models.

1185 405 3535 2634

3264 1655
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Mo says,

When | add hundreds
to a number,only the
hundreds column will
change.

Is Mo correct? Explain your answer.
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What is the missing 4-digit number?
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